
TOP OF BRACKET TO
BE FLUSH WITH TOP

OF BACKBOARD

INSTALL SCREWS
THROUGH PRE-DRILLED

HOLES IN EXTENSION
BRACKET

7

1

CENTER BRACKET
LEFT-TO-RIGHT

ON BACKBOARD

Detail "A"

Check all items against Parts List above to 1.
ensure all have been included.

Secure the extension bracket (#1) to the top 2.
of the backboard.  Use six #12 x 7/8" lg. 
self-drilling, self-tapping screws (#7) 
through the pre-drilled holes in the extension 
bracket.  Align the top edge of the bracket 
with the top edge of the backboard, and 
center the bracket left-to-right on the 
backboard.  See Detail "A".

SAVE THESE INSTRUCTIONS FOR FUTURE USE

www.porterathletic.com

Copyright 2019 by Porter Athletic.  
All rights reserved.

888-277-7778

2/15/2019
INST183850

Page 1 of 6

183850 - PLATE MOUNT SHOT CLOCK SUPPORT
INSTALLATION INSTRUCTIONS



12

10998

1

Detail "B"

ORIENT COUPLING 
NUT TOWARDS 

BACKBOARD

1

13
15

11

Detail "C"

ORIENT CLAMPING PLATE 
SUCH THAT SMALLER PLATE 
IS NEARER TO BACKBOARD

12

Detail "D"

4
14

15

15 16
17

Attach the threaded lock plate (#12) 3.
to the extension bracket (#1) using the 
1/4" hex head bolts (#8), 1/4" 
flatwashers (#9) and 1/4" nyloc hex 
nuts (#10) provided. Refer to Detail 
"B" for proper orientation of the 
threaded lock plate.

Insert the long hand knob (#13) 4.
through a 3/8" flatwasher (#15) and 
the clamping plate (#11), then thread 
the knob into the threaded lock plate 
(#12). Tighten until the threaded rod 
is approximately 1" into the lock 
plate. Refer to Detail "C" for proper 
orientation of the clamping plate.

Attach the shot clock support 5.
mounting bracket (#4) to the boom 
using the 3/8" hex head bolts (#14), 
3/8" flatwashers (#15), 3/8" lock 
washers (#16) and 3/8" hex nuts (#17) 
provided. Hex bolts insert through 
pre-drilled holes in boom tube. Refer 
to Detail "D" for proper orientation of 
the mounting bracket.

www.porterathletic.com

Copyright 2019 by Porter Athletic.  
All rights reserved.

888-277-7778

2/15/2019
INST183850

Page 2 of 6

183850 - PLATE MOUNT SHOT CLOCK SUPPORT
INSTALLATION INSTRUCTIONS



 29 

 6 

Detail "E"

Detail "F"

18

20

20 21 22

2

Detail "G"

6

23

5

Before attaching the shot clock 6.
support upright (#2) to the mounting 
bracket, the top plate of the shot clock 
support should be drilled to match the 
bolt pattern in the bottom of the shot 
clock being used with this support 
frame. Refer to Detail "E" for the 
dimensions of the top plate; the top 
plate is made of 1/4" thick aluminum 
plate.

Attach the shot clock support upright 7.
(#2) to the mounting bracket (#4) 
using the 3-1/2" long shoulder bolts 
(#18), 5/16" flatwashers (#20), 5/16" 
lock washers (#21) and 5/16" hex nuts 
(#22). Refer to Detail "f" for proper 
orientation of the shot clock support 
upright.

Attach the brace tube glide bracket 8.
(#5) to the glide plate (#6) by 
threading the 1" hand knob (#23) 
through the glide bracket and into the 
glide plate. Thread the hand knob into 
the glide plate approximately 1/2" and 
then slide all three components into 
the channel welded to the top of the 
boom.

www.porterathletic.com

Copyright 2019 by Porter Athletic.  
All rights reserved.

888-277-7778

2/15/2019
INST183850

Page 3 of 6

183850 - PLATE MOUNT SHOT CLOCK SUPPORT
INSTALLATION INSTRUCTIONS



CLAMPING PLATE SWIVELS 360   AND 
PASSES THROUGH SHOT CLOCK 

SUPPORT UPRIGHT TO ALLOW FOR 
RAISING/LOWERING FRAME AND 

LOCKING INTO UPRIGHT POSITION

19

20
21

22

20

Assemble brace tube (#3) to brace tube glide bracket (#5) and shot clock 9.
support upright (#2) using 2" long shoulder bolts (#19), 5/16" flatwashers (#20), 
5/16" lock washers (#21) and 5/16" hex nuts (#22). Shot clock support can then 
be raised/lowered following the procedure found on page 6.

Detail "H"

www.porterathletic.com

Copyright 2019 by Porter Athletic.  
All rights reserved.

888-277-7778

2/15/2019
INST183850

Page 4 of 6

183850 - PLATE MOUNT SHOT CLOCK SUPPORT
INSTALLATION INSTRUCTIONS



FRONT OF BOOM

24

REAR OF BOOM

Route shot clock wiring as 10.
shown by the dotted line. Holes 
in the shot clock support, top of 
the boom near the backboard, 
and rear of the boom allow for 
cabling to be hidden. Once 
completed, install tube caps 
(#24) into shot clock support 
upright as shown in diagram on 
the right.

www.porterathletic.com

Copyright 2019 by Porter Athletic.  
All rights reserved.

888-277-7778

2/15/2019
INST183850

Page 5 of 6

183850 - PLATE MOUNT SHOT CLOCK SUPPORT
INSTALLATION INSTRUCTIONS



BRACE TUBE KNOB

CLAMPING PLATE KNOB

THIS WARNING IS GIVEN IN COMPLIANCE
WITH CALIFORNIA’S PROPOSITION 65:

WARNING
This product contains chemicals known to the

State of California to cause cancer, birth defects
or other reproductive harm.

SAVE THESE INSTRUCTIONS FOR FUTURE USE

OPERATING PROCEDURE

Raising:
Loosen brace tube knob1.
Raise the unit; ensure the clamping plate is turned 90   to pass through upright frame2.
Once frame is in upright position, turn clamping plate parallel to court and tighten 3.
clamping plate knob followed by brace tube knob

Lowering:
Loosen brace tube knob followed by clamping plate knob; ensure upright is supported 1.
as knobs are loosened
Turn clamping plate 90   and slowly lower upright frame2.
Once lowered, tighten brace tube knob3.

www.porterathletic.com

Copyright 2019 by Porter Athletic.  
All rights reserved.

888-277-7778

2/15/2019
INST183850

Page 6 of 6

183850 - PLATE MOUNT SHOT CLOCK SUPPORT
INSTALLATION INSTRUCTIONS


	Sheet1
	Drawing View31
	Drawing View32

	Sheet2
	Drawing View33
	Drawing View34
	Drawing View35

	Sheet3
	Drawing View36
	Drawing View38
	Drawing View39

	Sheet4
	Drawing View43

	Sheet5
	Drawing View44
	Drawing View45

	Sheet6
	Drawing View48
	Drawing View49


